On exponential mixing bounds and convergence rate for reciprocal Gamma diffusion processes

NIOULFAR ABOURASHCHI¹ AND ALEXANDER YU. VERETENNIKOV^{1,*}

¹ School of Mathematics, University of Leeds, Woodhouse Lane, Leeds-LS29JT, U.K.

Received June 1, 2009; accepted August 31, 2009

Abstract. For a parametric class of "reciprocal gamma diffusion processes", certain exponential bounds for β -mixing and rate of convergence to stationary distribution are established.

AMS subject classifications: 60H10, 60J60

Key words: Markov diffusion, polynomial tails, exponential mixing

1. Introduction

In our recent paper [1] we considered a parametric class of 1D diffusion processes called Student diffusions. The reason for studying this class was a demand from stochastic financial applications; this study was initiated in [5]. The class of reciprocal gamma diffusions is another particular class which is interesting from the same point of view, [8]. Namely, in applied stochastic finance theory there is a need to have a description of parametric classes of processes with certain special properties, in particular, with heavy or light tails, "short" or "long" memory, and exponential or some other rate of mixing and convergence towards stationary distributions. For applications it is also highly desirable that the latter are known exactly. Hence, in this paper we investigate certain mixing properties and convergence rate to equilibrium distribution for this new particular class suggested in [8]. It turns out that the processes from this class possess polynomial tails and exponential mixing.

Although the model under consideration is rather specific, we apply the theory developed for general possibly non-symmetric and non-stationary processes. Notice that for strictly stationary symmetric processes there are other methods to study some other mixing coefficients, see, e.g., [4, section 2] about alpha-mixing; in particular, cf. examples in the end of that section. Our model here is symmetric; however, we establish an exponential decay of stronger and non-stationary beta-mixing, so there are various reasons why formally our results cannot be derived directly from [4].

The organisation of the paper is as follows. Section 2 relates to the definition of the gamma and reciprocal gamma density distribution.

http://www.mathos.hr/mc

^{*}Corresponding author. *Email addresses:* Niloufar@maths.leeds.ac.uk (N. Abourashchi), A.Veretennikov@leeds.ac.uk (A. Yu. Veretennikov)

^{©2009} Department of Mathematics, University of Osijek

Section 3 is devoted to the presentation of the parametric class of ergodic stationary reciprocal gamma diffusions with a marginal inverse gamma distribution. Section 4 presents main results, section 5 contains auxiliary lemmae. Main results are proved briefly in section 6.

2. Gamma and reciprocal gamma distribution

Let random variable Y have a gamma distribution with probability density function of the form

$$\mathfrak{g}(x) = \begin{cases} \frac{\alpha^{\beta}}{\Gamma(\beta)} x^{\beta-1} e^{-\alpha x}, \ x > 0, \\ 0, \qquad x \le 0, \end{cases}$$
(1)

where $\alpha > 0$ is a scale parameter and $\beta > 1$ is a shape parameter. Then random variable $X = \frac{1}{Y}$ has a reciprocal gamma distribution with probability density function,

$$\mathfrak{rg}(x) = \begin{cases} \frac{\alpha^{\beta}}{\Gamma(\beta)} x^{-\beta-1} e^{-\alpha/x}, \ x > 0, \\ 0, \qquad x \le 0, \end{cases}$$
(2)

with the same parameters α and β . In literature those distributions are denoted as $Y \sim \mathfrak{G}(\alpha, \beta)$ and $X \sim \mathfrak{RG}(\alpha, \beta)$. The moments of k-th order of a reciprocal gamma random variable are given by the following expression

$$E[X^k] = \frac{\alpha^k}{\prod_{j=1}^k (\beta - j)} = \alpha^k \frac{\Gamma(\beta - k)}{\Gamma(\beta)}, \qquad k < \beta.$$
(3)

In particular, expectation and variance of random variable $X \sim \Re \mathfrak{G}(\alpha, \beta)$ read

$$E[X] = \frac{\alpha}{\beta - 1}, \quad Var(X) = \frac{\alpha^2}{(\beta - 1)^2(\beta - 2)}.$$
(4)

An important feature of a reciprocal gamma distribution is a scaling property, i.e., if $\mathfrak{G}(\alpha,\beta)$ and $\mathfrak{RG}(\alpha,\beta)$ are gamma and reciprocal gamma random variables, respectively, with the same parameters α and β , then – a bit abusing notations – it is known that

$$\mathfrak{RG}(\alpha,\beta) = \frac{1}{\mathfrak{G}(\alpha,\beta)} = \frac{\alpha}{\mathfrak{G}(1,\beta)} = \alpha \,\mathfrak{RG}(1,\beta). \tag{5}$$

For references see [8].

3. Reciprocal gamma diffusion

Consider a stochastic differential diffusion equation

$$dX_t = -\theta (X_t - \frac{\alpha}{\beta - 1}) dt + \sqrt{\frac{2\theta}{\beta - 1} X_t^2} dW_t, \quad t \ge 0,$$
(6)

with some initial data X_0 . Here $\theta > 0$, $\alpha > 0$, $\beta > 1$, and $(W_t, t \ge 0)$ is a standard Brownian motion (BM). Equivalently,

$$X_t = X_0 - \theta \int_0^t (X_s - \frac{\alpha}{\beta - 1}) \, ds + \int_0^t \sqrt{\frac{2\theta}{\beta - 1} X_s^2} \, dW_s, \quad t \ge 0,$$

where X_0 is a random variable independent of Brownian motion W_t ; in particular a non-random value is, of course, allowed. Due to a global Lipschitz condition on both coefficients, the stochastic differential equation above has a unique strong solution which is a strong Markov process. Moreover, solution $X = \{X_t, t \ge 0\}$ is ergodic with invariant reciprocal gamma probability density function (2), see [8]. Notice that this invariant density, of course, does not depend on $\theta > 0$.

4. Main results

Let $F_{\leq s}^X = \sigma(X_u, u \leq s)$. Notations E_x and P_x (E_{st} and P_{st}) are used for the processes with initial data x (stationary distribution as initial data, independent of the BM). We recollect the definition of two mixing coefficients, $\alpha(t)$ and $\beta(t)$: Strong mixing coefficient or the Rosenblatt coefficient

$$\alpha^{x}(t) = \sup_{s \ge 0} \sup_{A \in F_{t+s}^{X}} |P_{x}(AB) - P_{x}(A)P(B)|;$$

Complete regularity condition or the Kolmogorov coefficient

$$\beta^{x}(t) = \sup_{s \ge 0} E_{x} \max_{B \in F_{\ge t+s} X} (P(B|F_{s}) - P(B)).$$

Denote $\alpha^{st}(t)$ and $\beta^{st}(t)$ the versions of both coefficients for stationary distributed initial data X_0 , respectively. Denote by $\mu^x(t)$ the distribution of X_t with initial data x, and by μ^{st} the invariant measure for X.

Theorem 1. For any $\beta > 1$ and $m < \beta$, there exist constants $C, c, \lambda > 0$ such that

$$\beta^{x}(t) \leq K(x)e^{-ct}, \quad K(x) = C\left(\frac{1}{|x|^{\lambda}} + |x|^{m}\right), \quad t \geq 0,$$
(7)

and for stationary regime,

$$\beta^{st}(t) \le Ce^{-ct}, \quad t \ge 0.$$
(8)

Theorem 2. Under the assumptions of Theorem 1,

$$var(\mu^{x}(t) - \mu^{st}) \le K(x) e^{-ct}, \quad t \ge 0.$$
 (9)

Notice that the bounds obtained above allow us to apply the Central Limit Theorem for functionals of the process, see e.g., [6]. We do not pursue this goal here, see e.g., [1, Corollary 1] and [10]. In particular, the latter references contain hints as to how apply the method from [6] to non-stationary processes.

5. Preliminary results

For any R > 1, let $\tau_1 := \inf(t \ge 0 : X_t \le R), \tau_2 := \inf(t \ge 0 : X_t \ge R^{-1}).$

Lemma 1. For any $\alpha, \theta > 0$, $\beta > 1$ and any $m < \beta$, there exists a constant $\alpha_1 > 0$ such that for any R large enough and x > R,

$$E_x \exp(\alpha_1 \tau_1) \le |x|^m.$$

Proof. Consider a Lyapunov function $f(t, x) = \exp(\alpha_1 t)x^m$. Then, the stochastic differentiation of this function along the trajectory X reads

$$\begin{split} df(t, X_t) &= \alpha_1 e^{\alpha_1 t} X_t^m dt + m X_t^{m-1} e^{\alpha_1 t} (dX_t) + \frac{1}{2} m (m-1) X_t^{m-2} e^{\alpha_1 t} (dX_t)^2 \\ &= \alpha_1 e^{\alpha_1 t} X_t^m dt + \frac{1}{2} e^{\alpha_1 t} \frac{2\theta}{\beta - 1} m (m-1) X_t^m dt - \theta m X_t^{m-1} e^{\alpha_1 t} X_t dt \\ &+ \frac{\alpha \theta m}{\beta - 1} X_t^{m-1} e^{\alpha_1 t} dt + \sqrt{\frac{2\theta}{\beta - 1} X_t^2} dW_t \\ &= e^{\alpha_1 t} X_t^m \left[\alpha_1 + \frac{\theta}{\beta - 1} m (m-1) + \frac{\alpha \theta m}{\beta - 1} X_t^{-1} - \theta m \right] dt \\ &+ \sqrt{\frac{2\theta}{\beta - 1} X_t^2} dW_t. \end{split}$$

Due to the assumption we have $m\theta - \frac{m(m-1)\theta}{\beta-1} > 0$. Let $0 < \alpha_1 < m\theta - \frac{m(m-1)\theta}{\beta-1}$. Then, for R large enough,

$$\left[\alpha_1 + \frac{\theta}{\beta - 1} m \left(m - 1\right) + \frac{\alpha \theta m}{\beta - 1} X_t^{-1} - \theta m\right] < c \le 0.$$

Hence, taking expectations, we obtain,

$$E_x f(t \wedge \tau_1, X_{t \wedge \tau_1}) - f(0, x) \le c E_x \int_0^{t \wedge \tau_1} e^{\alpha_1 s} X_s^m ds \le 0.$$

Due to the Fatou Lemma, as $t \to \infty$, Lemma 1 follows.

Notice that to avoid any question about expectations of the stochastic integral above, as usual, we can apply a standard localization procedure.

Lemma 2. For any $\alpha, \theta > 0$, $\beta > 1$ and any $\lambda > 0$, there exists a constant $\alpha_2 > 0$, such that for any R large enough and $x < \frac{1}{R}$,

$$E_x \exp(\alpha_2 \tau_2) \le \frac{1}{x^{\lambda}}.$$

Proof. Here the initial condition is very near to the origin. Notice that our diffusion can never reach zero if it starts from positive values. Hence, it is convenient

334

to transform the space and consider another process $Y_t := \lambda \ln X_t \equiv \ln X_t^{\lambda}$. Its stochastic differential reads

$$\begin{aligned} \frac{1}{\lambda} dY_t &= d(\ln X_t) = \frac{dX_t}{X_t} - \frac{1}{2} \frac{dX_t^2}{X_t^2} = \left(-(\theta + \frac{\theta}{\beta - 1}) + \frac{\alpha \theta}{\beta - 1} \exp\left(-Y_t\right) \right) dt \\ &+ \sqrt{\frac{2\theta}{\beta - 1}} dW_t \\ &= \left[-\frac{\theta \beta}{\beta - 1} + \frac{\alpha \theta}{\beta - 1} \exp\left(-Y_t\right) \right] dt + \sqrt{\frac{2\theta}{\beta - 1}} dW_t \end{aligned}$$

Let us consider a Lyapunov function $f(t, y) = \exp(-y + \alpha_2 t)$. We have

$$\begin{split} df(t,Y_t) &= \alpha_2 f(t,Y_t) dt - f(t,Y_t) dY_t + \frac{1}{2} f(t,Y_t) (dY_t)^2 \\ &= \alpha_2 f(t,Y_t) dt - f(t,Y_t) \lambda \left[-\frac{\theta\beta}{\beta-1} + \frac{\alpha\theta}{\beta-1} \exp\left(-Y_t\right) \right] dt \\ &- f(t,Y_t) \lambda \left[\frac{2\theta}{\beta-1} \right]^{1/2} dW_t + \frac{1}{2} f(t,Y_t) \frac{2\lambda^2\theta}{\beta-1} dt \\ &= f(t,Y_t) \left[\alpha_2 + \frac{\lambda^2\theta}{\beta-1} + \frac{\lambda\theta\beta}{\beta-1} - \frac{\lambda\alpha\theta}{\beta-1} \exp\left(-Y_t\right) \right] dt \\ &- \lambda f(t,Y_t) \sqrt{\frac{2\theta}{\beta-1}} dW_t. \end{split}$$

For R large enough and $t < \tau_2$, we have

$$\left[\alpha_2 + \frac{\theta(\lambda\beta + \lambda^2)}{\beta - 1} - \frac{\lambda\alpha\theta}{\beta - 1}\exp\left(-Y_t\right)\right] \le \kappa \le 0.$$

Hence, taking expectation, we get $Ef(t \wedge \tau_2, Y_{t \wedge \tau_2}) - f(Y_0, 0) \leq 0$. So, using the Fatou Lemma as $t \to \infty$, we get $E_x \exp(\alpha_2 \tau_2) \leq \frac{1}{x^{\lambda}}$. Lemma 2 is proved. \Box

Lemma 3. For any $\alpha, \theta > 0$, $\beta > 1$, any $\lambda > 0$ and any $m < \beta$,

$$E_{st}X^m + E_{st}\frac{1}{X^\lambda} < \infty.$$

Proof. This is straightforward due to the convergence,

$$\int_0^\infty x^m x^{-\beta-1} e^{-\frac{\alpha}{x}} dx + \int_0^\infty \frac{1}{x^\lambda} x^{-\beta-1} e^{-\frac{\alpha}{x}} dx < \infty.$$

In what follows, we shall consider recurrence properties of a couple of independent Markov processes satisfying the same equation (6). Consider a direct product of two identical probability spaces where two independent copies of our Markov process are defined, say $(Z_t, t \ge 0)$ and $(Z'_t, t \ge 0)$, with the initial values $Z_0 = z$, $Z'_0 = z'$, respectively. Define a new function $\phi_R(z) \in C^2$ as follows:

$$\phi_R(z) = \begin{cases} z^m, & \text{if } z \ge R, \\ \text{any } C^2 \text{ function, if } \frac{1}{R} \le z \le R, \\ \lambda \ln z, & \text{if } z \le \frac{1}{R}. \end{cases}$$

For $R_1 \ge R$, define a stopping time γ ,

$$\gamma := \inf(t \ge 0 : Z_t \in [\frac{1}{R_1}, R_1] \& Z'_t \in [\frac{1}{R_1}, R_1]).$$

Lemma 4. For any $\alpha, \theta > 0$, any $\lambda > 0$ and any $m < \beta$, there exist $C, \alpha_3 > 0$ such that for $R_1(\geq R)$ large enough and for any z, z' > 0 as initial starting points for Z and Z',

$$E_{z,z'} \exp(\alpha_3 \gamma) \le C \left(\phi_{R_1}(z) + \phi_{R_1}(z') \right).$$

Proof. Consider a Lyapunov function with $\alpha_3 > 0$,

$$f(t,\phi(z),\phi(z')) = \exp(\alpha_3 t)(\phi(z) + \phi(z')).$$

Due to Itô's formula, we have

$$df(t,\phi(Z_t),\phi(Z'_t)) = \alpha_3 \exp(\alpha_3 t)(\phi(Z_t) + \phi(Z'_t))dt + \exp(\alpha_3 t)L\phi(Z_t)dt + \exp(\alpha_3 t)L(\phi(Z'_t))dt + \sqrt{\frac{2\theta}{\beta - 1}Z_t^2}\phi'(Z_t)dW_t + \sqrt{\frac{2\theta}{\beta - 1}Z_t^2}\phi'(Z'_t)dW'_t.$$

Notice that

$$\sup_{\frac{1}{R} \le z \le R} L\phi_R(z) \lor 0 := C^* < \infty,$$

and also

$$\sup_{z \notin [\frac{1}{R}, R]} L\phi_R(z) \le 0.$$

Define $S_+ := \{z : L\phi_R(z) > 0\}$. Then in the integration $\int_0^{t \wedge \gamma} (\ldots) ds$, for every s, there are two main cases to be considered:

I: At time s, one process is either $(\geq R_1)$ or $(\leq 1/R_1)$, while the other process is in $(R_1 \setminus S_+)$. Then the contribution from both processes in the ds term are negative, and one of them provides a large negative value, $\leq -K_{R_1}$ such that $-K_{R_1} + \alpha_3 < 0$ for any chosen $\alpha_3 > 0$, if R_1 is large enough. II: At time s, one process is either $(\geq R_1)$ or $(\leq 1/R_1)$, but the other process is in the domain (S_+) . Then again the first process provides a large negative contribution $\leq -K_{R_1}$, so that $-K_{R_1} + C^* + \alpha_3 < 0$ for any chosen $\alpha_3 > 0$, if R_1 is large enough.

Here a brief mathematical representation of the above description is given:

$$\begin{split} & E \ f(Z_{t \wedge \gamma}, Z'_{t \wedge \gamma}, t \wedge \gamma) - f(z, z', 0) \\ & \leq \underbrace{E \int_{0}^{t \wedge \gamma} (....Z_{s} +Z'_{s}).1 \left((|Z_{s}| > R_{1} \vee |Z_{s}| < \frac{1}{R_{1}}) \operatorname{and} \left(\frac{1}{R} < |Z'_{s}| < R\right) \right)}_{\leq -K_{R_{1}} + C^{*} + \alpha_{3} \leq 0} \\ & + \underbrace{E \int_{0}^{t \wedge \gamma} (....Z_{s} +Z'_{s}).1 \left((|Z_{s}| > R \vee |Z_{s}| < \frac{1}{R}) \operatorname{and} \left(\frac{1}{R} < |Z'_{s}| < R\right) \right)}_{\leq (-K_{R_{1}} + C^{*} \leq 0)} \\ & + \underbrace{E \int_{0}^{t \wedge \gamma} (....\widetilde{Z}_{s} +Z'_{s}).1 \left(\frac{1}{R_{1}} < |Z_{s}| < R_{1} \operatorname{and} \frac{1}{R_{1}} < |Z'_{s}| < R_{1} \operatorname{ds.} \right)}_{(\equiv 0 \operatorname{since} \gamma = 0)} \end{split}$$

In both cases the term with ds is negative for $s \leq \gamma$. Hence, we can finish the proof similarly to the proofs of Lemmae 1 and 2. Lemma 4 is proved.

Lemma 5. For any $\alpha, \theta > 0$ and for every $m < \beta$, there exist $\lambda > 0$ and C > 0 such that for every x > 0,

$$\sup_{t \ge 0} E_x \left(X_t^m + \frac{1}{X_t^{\lambda}} \right) \le C \left(1 + x^m + \frac{1}{x^{\lambda}} \right).$$
(10)

Notice that the unit on the right-hand side here has been added just for simplicity: clearly it may be dropped. This is the only place were $\lambda > 0$ is to be chosen. Perhaps, by some improvement of the method one can show (10) with any $\lambda > 0$. Nevertheless, for our purposes some lambda is sufficient.

Proof. Proof of

$$\sup_{t \ge 0} E_x X_t^m \le C(1+x^m) \tag{11}$$

follows similarly to the proof of Lemma 2 from [1]. Hence, it suffices to show that there exists $\lambda > 0$ such that

$$\sup_{t \ge 0} E_x X_t^{-\lambda} \le C \left(1 + x^{-\lambda} \right) \tag{12}$$

holds true for any x > 0. Consider transformation $Y_t = \ln X_t$ (it does not involve λ). In the new scale, the equation has a constant diffusion coefficient and the drift, say, $\tilde{b}(y)$, satisfying

$$yb(y) \le -c < 0, \quad |y| \ge c_1.$$

It was shown in [9] that under such condition, there exists $\lambda > 0$ and C > 0 such that for any initial $y \in R$,

$$E_y \exp(\lambda |Y_t|) \le C \exp(\lambda |y|), \quad \forall \ t \ge 0.$$
 (13)

Strictly speaking, only bounded coefficients were considered in [9]. However, our drift here is "better" in the domain of negative y values in the sense that this drift is not just positive, but even it goes to $+\infty$ as $y \to -\infty$. Hence, e.g. a simple comparison theorem reduces our case to that considered in [9]. Finally, (13) implies (12). Lemma 5 is proved.

6. Proof of Theorem 1 and 2

The proofs follow from Lemmae 4 and 5 similarly to the calculus in the proof of [1, Theorem 1], via a Harnack inequality. Notice that, of course, instead of using Harnack, it is possible to apply the intersection idea, similarly to [1, Proof of Theorem 1, step 3]. Theorems 1 and 2 are proved.

Acknowledgment

The authors are grateful to Professor N. Leonenko for posing a question about mixing for reciprocal gamma diffusions. This paper is part of the Ph.D. thesis of the first author. For the second author this work was accomplished while on leave from Institute of Information Transmission Problems of Russian Academy of Sciences, Moscow. The second author thanks the grant RFBR 08-01-00105a for support.

References

- N. ABOURASHCHI, A. YU. VERETENNIKOV, On exponential mixing bounds and convergence rate for Student processes, Theory of Probability and Mathematical Statistics, to appear.
- [2] P. T. BOGGS, R. H. BYRD, R. B. SCHNABEL, A stable and efficient algorithm for nonlinear orthogonal distance regression, SIAM J. Sci. Statist. Comput. 8(1987), 1052– 1078.
- [3] J. E. DENNIS, JR, R. B. SCHNABEL, Numerical Methods for Unconstrained Optimization and Nonlinear Equations, SIAM, Philadelphia, 1996.
- [4] V. GENON-CATALOT, T. JEANTHEAU, C. LAREDO, Stochastic volatility models as hidden Markov models and statistical applications, Bernoulli 6(2000), 1051–1079.
- [5] C. C. HEYDE, N. N. LEONENKO, Student processes, Adv. in Appl. Probab. 37(2005), 342–365.
- [6] I. A. IBRAGIMOV, YU. V. LINNIK, Independent and stationary sequences of random variables, Wolters-Noordhoff Publ., Groningen, 1971.
- [7] N. N. LEONENKO, N. ŠUVAK, Statistical inference for Student diffusion process, Stochastic Analysis and Applications, to appear.
- [8] N. N. LEONENKO, N. ŠUVAK, Statistical inference for reciprocal gamma diffusion process, J. Statist. Plann. Inference 140(2010), 30–51.
- [9] A. YU. VERETENNIKOV, Estimates of the mixing rate for stochastic equations, Theory Probab. Appl. 32(1987), 273–281.

- [10] A. YU. VERETENNIKOV, On polynomial mixing and the rate of convergence for stochastic differential and difference equations, Theory Probab. Appl. 44(2000), 361–374.
- [11] G. A. WATSON, *The total approximation problem*, in: *Approximation Theory IV*, (C. K. Chui, L. L. Schumaker and J. D. Ward, Eds.), Academic Press, 1983, 723–728.